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SMEARER Cpe = 0.8kz + 0.4 = 0.8X0.982 + 0.4 = 1.186
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() E#
D BRI E T ST — A2 b
W =959 + 17.5X1.3 = 118.7 (kNm)

2) FLBs ES 1R AR 9 5 il 5 1) e
L Lo AREEE 20 (kN/m®)
av 7 ) — hOBNEREERE 24 (kN/m®)

EWREFEHE N1 = 7.8 (kN)
e & N2 = 3.2X2.1X1.2X20 = 161.3 (kN)
REEE N3 = 2X0.67X0.67X0.1X24 = 2.2 (kN)
Bl 5 A JEME N = N1+ N2 + N3 = 171.3 (kN)
A
670 4—l 670 715 670 715
7 D s [T T
f A 2
= g +_ Aig
= ¥ g 1
= = N
3 } Nz g
<J \.'M)
A
5000 | 72,200 500
Lx=3, 200 Ly=2, 100
(a) FmlX (b) A-AWTHEIX
K3 EfEok~TE
3) Mt /1 D KREE

Ly/6 = 2.1/6 = 0.35  (m)
Ly/3 =2.1/3 =0.7 (m) OK
BEHEREE o = 2/{3X(0.5-¢/Ly)} = 2/{3%X(0.5-0.69/2.1)} = 3.89

1RO B e =M/N=118.7/171.3 = 0.69

NIV

FWIMIR )  oe = N/A = 171.3/(3.2X2.1) = 25.5 = 50 (kN/m?) OK
HIH 7 oe = a N/A = 3.89X171.3/(3.2%X2.1) = 99.2 < 100 (kN/md) 0K
4) FoRER RN 69 D M EE
Bl E— AL N M = 118.7 (kNm)
’HIE— AL b M= 171.3X1.05 = 179.9 (kNm)
N
BB % Y B e AR L Ve >
M/ = 179.9/118.7 = 1.52 > 1.5 0K Ny

1,050 ‘

>

‘ Ly=2, 100 g

4 FEEOREREE— A > b



5) RX— 2
HhEN d = 800-80 = 720 (mm)
IS STFLEERE 5 = (7/8)d = 630 (mm)

haz#ElE COMEME  xn = 3(Ly/2-e)

= 3X(2.1/2-0.69) = 1.08 (m)
HENE OBEHITE of = oe(xn—xf)/xn
= 99.2X (1.08-0.715)/1.08 = 33.5 (kN/m%) X5 FLAEOBEHT
B AW QF = (geto f)Lx-xf/2 = (99.2+33.5) X3.2X0.715/2 = 151.8  (kN)
B AW = QF/Lx+j = 151.8X 1000/ (3200X630) = 0.08 =<  1.05  (N/mm? 0K

ifE—AL K~ MF = of-Lxxf/2)+(0e-0of)Lx(2xf/3)
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